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B.A./B.Sc. (General) 1st Semester
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1127
ECONOMICS

(In All Mediums)
Paper : Micro Economics

Time : 3 Hours] [Max. Marks : 90

Note :-- (i) Question No, 1 is compulsory,

(ii) Attempt five questions in all.

(iii) Select one question from each Unit.

(Compulsory Question)

1. Do any nine answers in 25-30 words :

(i) Give the wealth definition of Economics,

(ii) What is cross elasticity of demand ?

(iii) What is an indifference map ?

(iv) What is social cost ?
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(v) Define short-run.

(vi) Define production.

(vii) Define monopoly.

(viii) Define price discrimination.

(ix) Define nominal and real wages.

(x) Define net profit.

(xi) Explain quasi rent.

(xii) Distinguish between gross interest and net

interest. 2x9=18

Unit-I

2. Explain critically law of Diminishing Marginal Utility. 18

3. Explain the various methods to measure price elasticity

of demand. 18

Unit-II

4. Explain in detail the laws of returns to scale. 18

5. Define concepts of total revenue (TR), average

revenue (AR) and marginal revenue (MR). Also

explain the behaviour of AR and MR under different

situations. 3,3,3,9
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Unit-Ill

6. How does a firm maximises profits and minimises

losses under perfect competition ? 18

7. What are selling costs ? How does a firm attains

equilibrium with selling costs ? 4,14

Unit-IV

8. Explain Loanable fund theory of Interest. 18

9. Examine Ricardian theory of rent. 18
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:- (i) ¥^T sF. 1

(ii) ^r T?Nr

(iii)

1. f^f "2̂ T "R^Tt " ^rfT 25-30

(i)

(ii)

(iii)

(iv) <HiHifacfT crtMia

(v)

(vi)

(vii)

(viii)

(ix) HIHHM

00 "̂  efT^T

(xi) OT^TRft eFIR ^

(xii) ^T^QT ^TR cT^T ̂  ®qM ^ 3??R ^tf^l 2x9=18
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cfrlfclMj 18

3. ÎPT cfft china crffa ^TN^T "̂ t f^f^FT

4. ^TT^ ^T yfd^hd ffW ^t f̂ RTR ^ ^HH^I^I 18

5. ̂  3TFFT (TR), 3?facT 37FlcT (AR) cTm ^flw 3?m

(MR) ^t ^^TM "^tf^ I f^FT fFTfiptf ^ 3RFfc[ AR

MR ̂  oqq^K "̂ T wfa 1̂1̂ 1̂ 1 3,3,3,9

6. "<J^ Vila^lPiai "̂  3^Rpfcf ̂  "^f efT^T cR

îPi4l "c r̂r ^dH ^^ cR ti«hai % ? 18

7. fqsh^ 1Jc^T ^PTT % ? "Q^T ̂ f fqst)^ elMial ̂  "^T^T 'Hcjen

t ? 4,14

8. ®qpf ^JT î̂  "2^ ^fa ftr^Hf ^T ̂  chlRji^l 18

9. Rcbi<sT "̂  dJIH fa«&M «FT "^Rt^R «h!f^n<l 18
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